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Exercise 1. Solve the optimal control problem:
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Exercise 2.  A water reservoir is leaking and its water height 
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 is governed by 
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, where the control function 
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 denotes the net inflow at time 
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. Find the optimal control which maximizes the quantity
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Exercise 3. Solve the optimal control problem:
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Exercise 4.  By using the continuous Dynamic Programming Method solve the problem:
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Suggestion: In order to solve the HBJ equation, use as candidate solutions, expressions of the form: 
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 , where A an undetermined constant.
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10

_1655753023.unknown

_1655753025.unknown

_1655756204.unknown

_1655756422.unknown

_1655753026.unknown

_1655753024.unknown

_1655753021.unknown

_1655753022.unknown

_1655753019.unknown

_1655753020.unknown

_1655753018.unknown

